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+14N
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4He
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+17O
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1H
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14N   =   14.003074  u
7

��%3!"
4He   =    4.002604  u
2

��%3!"
17O   =   16.999134  u
8
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1H   =     1.007825  u
1
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)�"�����������m = 18.006959 - 18.005678

=  0.001281  u

.%�""�����E =  0.001281 x 931   MeV

=  1.19     MeV
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+1.19 MeV
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.�,��:�$(����	���(!�4%-+%�"�*�������
B.E.�3!"14N =  104.7       MeV

7

B.E.�3!"4He  =  28.3       MeV
2

B.E.�3!"17O  =  131.8       MeV
8
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$(��B.E. �(!��*��������9 104.7 + 28.3
= 133     MeV

6��"��$(������(��$(��B.E.�+%�"�*�������
��(���;�133 - 131.8  =  1.2   MeV
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++7Li
3

1H
1

4He + 17.3 MeV
2

4He
2
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